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All questions carry equal marks (15 marks each).

Attempt any five questions. .

Use of simple calculator is allowed.
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(@) Describe the various methods of collecting primary data
and comment on their relative advantages.
() Define the following terms :

(i) Random sample

(i) Histogram ~

(iii) Critical region
(iv) Probability density function. 5+10
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(@ What are the advantages and disadvantages of

Arithmetic Mean and Geometric Mean ?
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Class Limits Frequency
9.3-9.7 2
9.8-10.2 5
10.3-10.7 X
10.8-11.2 ; Y
11.3-11.7 14
11.8-12.2 : 6

What do you mean by index number ? State the uses

of index number. . 5+10

Calculate Laspeyres’ index using the following data.

Does it satisfy the time reversal test ?

Commodities | Price (Rs.)|Quantity| Price (Rs.)| Quantity
1979 1979 1980 1980
Rice k?) 50 30 50
Barley 30 35 25 40
Maize =16 55 18 50
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Commodities Price (Rs.) Quan;ity Price (Rs.)|Quantity
1979 1979 1980 1980
Rice 32 50 30 50
Barley 30° 35 25 40
Maize 1§ 55 18 50

What do you understand by linear regression analysis

and correlation analysis ? How do they differ ?

Find the coefficient of correlation from the following

data :
X Y
68
63 66
67 68
& 65
68 67
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What do you understand by Dispersion ? Explain briefly

the various methods used for measuring dispersion.

The coefficients of variation of wages of male workers

and female workers are 55 per cent and 70 per cent

respectively, while the standard deviations are 22 and

15.4 respectively. Calculate the overall average wages
of 100 workers given that 80 are male and 20 are female

workers. 10+5
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What is skewness ? Explain the main types of skewness

curves.

Find the First, Second, Third and Fourth moment about

its original mean and arbitrary origin 4 for the set of

numbers 2, 3. 7, 8, 10. 5+10
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If the probability of a defective bolt is 0.2, find the

mean and standard deviation of defective bolts in total

of 900 bolts.
(/) Explain the concept of conditional probability.

(i) An insurance company insured 2,000 scooter
drivers, 4,000 car drivers and 6,000 truck drivers.
The probability of their insurance is 0.1, 0.3 and
0.2 respectively. One of the insured persons meets

with an accident. What is .the probability that he

is a car driver ? (Using Bayes’ Theorem) 96
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A random variable X is defined asjl.’ne sum of faces when

a pair of dice is thrown. Obtain the probability distribution

of the sum of the number on them, Find the expected value

of X. : 10+5
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